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‘c -\( = 103 (XeX)-S

2. Algebraically determine the inverse of f(x)=10"° -8
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EX #1: Solve.
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Ex #2: Solve.
a. log, x+log,5=log,25
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Sometimes there is a benefit to using log properties to
expand or condense an expression.

Product Property: log,(m-n)=log, m+log,n
m

Quotient Property: log, ~ =log,m-log,n
n

Power Property: log, m" =nlog, m
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b. log (x+1)+log 3=log (2x-7)
Sf 056( ( m> ’:6\_03 < (2« ——7>

I =< Ix "7
A L3 -l!

X 340 @' 3\5\'

EX #3: Given log,7 ~1.21 and log,3~0.68 find:

a. log, 21 b. log, (%J C. log, 9
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EX #3: Given log,7~1.21 and log;3=0.68 find: (,Jgg- 157”" ly o>
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Assignment: pg. 561 #21, 24, 27, 30, 33, 35, 36, 42, 45, 46,49, 52; p 577 #35




